MAT 201, Quiz #8, Spring 2016

- Answers without work required to obtain the solution will not receive full

Instructions: Show all work

credit. Some questions may contain multiple

unless specifically asked to

1. Evaluate . F-dF

KeY

Name

parts: be sure to answer all of them. Give exact answers

estimate.

using Stokes’ Theorem for F (x, ¥,z) = yzi + 2xzj + e*¥ k over the curve

oriented counterclockwise bounded by the intersection of x2 + y>=16andz = 5.
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2. Evaluatef. F-d
(5,7,-1).
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7 for F(x,y,z2) = yzi + xzj + (xy + z)k over the path from (2,0,-3) to
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x + x*dy over the circle centered at the origin with a radius of 3.
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